JUT SRR I TF—A

BAHR. REBBIE. EFTTIT—BR,
REEHR. OREA




1, BEDIE

& W
RRLEE S DISN0 INFH B DR AR D
3 -
> COMHEBINIC £ R @*%E@”ﬁ%ﬁ%
> EGRARIOMBfRE §h5%jj T
< 2,

B R)EM 5 233 E A~ DO H R



xBHBRBITEICTHDS L] B8Y
1=
HE)ECHI LU TCLNDADDS., BFIEIL
A CTHBELHELUTNDA
= BEEMINDRBFETELE TEDIA
FBsh )

¢ EFEUNDRBFERCELE T DAL,
BREBIEZFEIRLUTNNDBDONESHNCITD

¢ BBN O NHILEFERNSIRDIZ O DI
\_ ZIREITD J

ml




S, EIDIT

CC
L

BIDIBE)=

n=26 A\

354
BEIREDB@EEIFE (n=9)
N A
Car*Train=Walk 2
Car*Train 2 °
Car * Bike - Walk 1 66%
Car-Bike 1
Train=Walk 1
Train=Bike =Walk 1 33%
Train*Bike 1




B0 | FE B G B @) B @ |5 @ | e [CDERE B
B km | [EN
+g) | BFE 6 34 7 48 74 23.4 0 I DOO3
LE) | Ke 6 28 7 47 78 23.4 0
BE | BEE 18 7 18 43 35 10.9 0
IBE | e 23 31 24 24 59 16.7 0
+g) | BIE 6 30 7 42 71 23.4 0
155 | BIE 17 33 18 56 82 235 0
+g) | BFE 6 30 7 47 77 235 0
IBE | BEIE 18 36 19 50 73 23.4 0
L&) | BFE 6 33 7 52 79 23.4 0
I5E | BIE 17 36 19 24 108 23.4 0
+g) | BFE 6 36 7 54 77 23.4 0
15T | BIE 17 37 19 6 89 235 0
HE) | BE)E 6 33 8 2 89 23.4 101
5T | BEIE 18 36 19 51 74 23.4 101
L8 | BFE 6 32 7 46 73 235 15
I5E | BIE 17 40 18 59 78 235 15
L&) | BFE 6 33 7 48 74 23.4 0
155 | BIE 17 36 18 50 73 23.4 0
+g) | BFE 6 33 7 50 77 23.4 22
I35 | BEIE 18 39 19 57 77 23.4 22
+g) | BFE 6 38 7 46 68 23.2 0
IBE | BEIE 18 36 19 49 73 235 0
HE) | BFE 6 32 7 51 78 23.4 6
I5E | BIE 17 35 18 55 80 234 6
HE) | e 6 39 7 46 67 23.3 0
IR | BFE 16 36 17 15 39 16.5 0
IBE | #he 23 45 24 10 62 6.7 0
+g) | BFE 8 16 9 53 97 235 55
IBE | B&)E= 19 6 20 20 73 23.4 55
+g) | BFE 6 40 8 0 79 21.2 0
I5E | BE)E 17 36 18 55 79 23.4 0
+g) | BFE 6 35 7 52 76 235 0
I5E | BIE 18 41 19 48 67 23.4 0




LB ga) b5 ga) , ODERR —H |us
NO. B8l FE () () (=) (=) BE_ D P58 km [T )75
11HE) | 7 7 7 17 9.0 0.4 0
2B8) [I[ES 8 2 8 43 40.0 1.2 0
JIBE [fXE 23 14 23 57 43.0 11.7 0
41E) |gh8 6 43 8 51 128.0 18.3 7
HIFE |ED 23 32 0 31 58.0 0.2 7
6/ L8) [FXE 7 26 8 59 93.0 18.9] 101
1BE FXe 20 23 22 42 139.0 18.8 101
8HE) [#XE& 9 3 10 14 71.0 188 25
IIBE [FXE& 20 34 23 2 147.0 189 25
10L%) B3E 7 26 8 55 89.0 192l 15
11E8) [FXE 7 40 8 23 42.0 13.1 0
12 58] [FX8 7 34 10 15 161.0 18.8 0
1388 [FXE 8 28 9 49 81.0 35.9 6
1445%) B3E 9 27 10 20 52.0 17.2 0
15|H%) B3E 12 50 13 56 65.0 30.3 0
16 BE) |#58 8 59 9 37 38.0 12.1 0
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